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PREVIEW QUESTION BANK(Dual)

Module Name : Chinese
Exam Date : 20-Jun-2023 Batch : 15:00-18:00

Sr. | Client Question

No D Question Body and Alternatives Marks Negativ

Marks
Objective Question

112051 1 consider the tollowing table which contains number of newspapers printed (within bracket) in each printing press and number of

newspaper distributed in a day in a particular city. Based on the data in the table, answer the question that follows.

Newspaper  |[Newspaper [Newspaper|Newspaper
Newspaper/Citw W) (Y) ) (Z)
(500) (10000) (10000)  |(5000)
City 1 1500 3000 35000 1000
City 2 1000 3500 3000 1000
City 3 500 1500 1500 500
City 4 500 1000 300 1300

What is the ratio between total number distributed newspapers W and total number distributed newspapers Z?

£
. 8:9
. 6:7
.4:5
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THER-T/E W X Y Z
(5000) (10000) (10000) (5000)
EL-1 1500 3000 3500 1000
o3 1000 3500 3000 1000
EL-3 500 1500 1500 500
e A4 500 1000 500 1500
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Objective Question

2 2052 Consider the following table which contains number of newspapers printed (within bracket) in each printing press and number of

newspaper distributed in a day in a particular city. Based on the data in the table, answer the question that follows.

Newspaper  |Newspaper |[Newspaper|Newspaper
Newspaper/City (W) (Y) () (2
(300) (10000) (10000)  [(5000)
City 1 1500 3000 33000 1000
City 2 1000 3300 3000 1000
City 3 500 1500 1500 300
City 4 500 1000 300 1300

What is the percentage of Newspaper Y distribution with total distribution?

.33%
.37%
. 34%
4.35%
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THHER-TE/ X W X 4 7
(5000) (10000) (10000) (5000)
TE-1 1500 3000 3500 1000
-2 1000 3500 | 3000 1000
RER-3 500 1500 1500 500
RGe-4 500 1000 500 1500 |
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Objective Question

32053 | Consider the following table which contains number of newspapers printed (within bracket) in each printing press and number of

newspaper distributed in a day in a particular city. Based on the data in the table, answer the question that follows.

Newspaper  |Newspaper |[Newspaper|Newspaper
Newspaper/City (W) (Y) ) )
(300) (10000) (10000)  [(5000)
City 1 1500 3000 35000 1000
City 2 1000 3300 3000 1000
City 3 500 1500 1500 300
Crty 4 500 1000 300 1300

Which newspaper has highest distribution?

. Newspaper Z
. Newspaper W
. Newspaper Y
4. Newspaper X
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L¥)

THER- TR W X % z
(5000) | (10000 | (10000) | (5000)
-1 1500 3000 | 3500 1000
Z) 1000 3500 3000 1000
TME3 500 1500 1500 | 500
B4 500 1000 500 | 1500
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Objective Question
4 2054
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Consider the following table which contains number of newspapers printed (within bracket) in each printing press and number of
newspaper distributed in a day in a particular city. Based on the data in the table, answer the question that follows.

Newspaper  ||Newspaper |[Newspaper|Newspaper
Newspaper/ Citw W) (Y) ) (Z)
(300) (10000) (10000)  |(5000)
City 1 1500 3000 35000 1000
City 2 1000 3500 3000 1000
City 3 500 1500 1500 300
City 4 500 1000 300 1300

What is the percentage of the newspapers which are not distributed to any city?

~15.2
~16.7
~ 17T
4. ~14.7
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Objective Question
5 2055
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Consider the following table which contains number of newspapers printed (within bracket) in each printing press and number of
newspaper distributed in a day in a particular city. Based on the data in the table, answer the question that follows.

Newspaper  ||Newspaper |[Newspaper|Newspaper
Newspaper/ Citw W) (Y) ) (Z)
(300) (10000) (10000)  |(5000)
City 1 1500 3000 35000 1000
City 2 1000 3500 3000 1000
City 3 500 1500 1500 300
City 4 500 1000 300 1300

What is the average number of newspapers distributed in each city?

. 6200
L6250
L1200
4. 6230
i aferet &1 srerg= &3, forgd fobdl U W 1 Ueh fa 1 sirdfed SHRR-UAT &1 9811 aul Ude geulied ¥ gfgd 9aER
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L

HHER-UA | §HRR-UA | GHHR-UF | §HER-UA

THER- /26 W X Y z
(5000) (10000) (10000) (5000)
e 1500 3000 | 3500 1000
) 1000 3500 3000 1000
EL-3 500 1500 1500 500
4 500 1000 500, | 1500 4
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Objective Question

6 2056 | Teachers use Mnemonics strategies for students to engage in

1. Scientific inquiry

2. Memorizing and assimilating information
. Testing of hypothesis

. Problem solving and writing activities

o
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Objective Question

2057 | Given below are two statements:

Statement I: To teach a concept to students, its defining attributes have to be very clear.

Statement IT: Concepts defined by the presence of one or more attributes are called digjunctive concepts.

In the light of the above statements, choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement II is true
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Objective Question

8 2058 1) the context of Special Needs Education. identify the ICT tools from the following:

A. Braille
B. Flash discs
C. Head wands

D. Text magnifier
E. Popplet

Choose the correct answer from the options given below:

1.B. C.E only
2. A, C.E only
3.A.B.E only
4, A, C.D only

A Sd

B. TaY fewag
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D. ¢RE HTHER
E. Giwie
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Al

A2

A3

Ay

4

Objective Question

9 2059 1 a learner centered teaching environment students

. actively participate in their own learning.

. are passive listeners.

. are considered as having similar abilities.

. make decision about what and how they will learn.

Onwe

Choose the correct answer from the options given below:

A and C only

.A.B and C only
3.A. Cand D only
4. A and D only

o =
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Objective Question

102060 According to UGC guidelines on structure and implementation of Choice Based Credit System (CBCS), the letter grade B’ obtained by a

student in a course corresponds to 'grade point' of

e
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Objective Question
11 2061
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Which research method is to used to identify cause-effect relations and test possible explanations for effects?

1. Correlational
2. Ethnography
3. Case studies

4. Experimental
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Objective Question

1212062 T4 conduct a research based on an in-depth study of ten classrooms, select the classes with fewest behavior problems, then expose how

teachers in those classes established a positive learning climate by interviewing teachers and students and analyzing video made at the
beginning of school session, which research method is to be selected for this purpose?

. Correlational

. Mixed methods
. Experimental

. Ethnography

& a1 & TR T TR SR Y PR & (717 I P& BT 90 B O =R BT A9 el gl | O fQempl aik
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Objective Question

1312063 | which among the following are the forms of realism in the context of research?

A. Empirical
B. Critical
C. Semiotics
D. Ordinal

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.C and D only
4. A and C only

i § 9 -8 gurdae & = g2
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B. AATEHSD
c. Y diagH

D. b HA[Hd
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Objective Question

1412064 | Given below are two statements:

which are often derived from professional guidelines.
Statement IT: Ethical issues can not and do not arise at all stages of a research process.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[ 2]

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement II is correct
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Objective Question

1512065 | \which among the following softwares are used for data analysis in research?

A, SPSS
B. Microsoft Teams
C. Microsoft Excel
D. Prezi
E. PSPP

Choose the correct answer from the options given below:

.A.B, Conly
A, C,E only
.B.D. E only
.C.D. E only

My H & faRerur & g Fridaiad o 9 i |iveduR &1 Wi faa o & 2

A, TOUITIUY (SPSS)
B. AIS®IEIGE ¢
C. IS INIT TRl
D. aGﬁ(Prezi}

E. UiTydidt (PSPP)
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Objective Question

16 2066 e : : .
In communication, personal meaning of information tends to be

1. Critical
2. Passive
. Objective
. Subjective

EOr . o1 T dufaae 3 ugd giaT §
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Objective Question

17 2 : - : : - S
72067 | \xhich of the following are essential for successful classroom communication?

A Define the purpose
B. Opt for pretensions
C. Use un-risky humour
D. Avoid rehearsals

E. Repeat speech-tags

Choose the correct answer from the options given below:

.A. Cand E only
.B. C and D only
.C.D and E only
.A.Band D only

R
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Objective Question

18 12068 | Given below are two statements:

Statement I: Sometimes effects of communieation are simple and direct.
Statement IT: Depending upon the context. effects of communication many times are complex and convoluted.

In the light of the above statements, choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement II is true

TR ey RRumUe:

P 1 FH-F TN $ YU TRA U TIY B © |

B 11 : Tt] I YR TR, TN P YT Tgul e Ud G 8id & |
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Objective Question
19 2069 ] . .
The correct sequence of following models of communication is
A. Linear model
B. Helical model

C. Aristotelian model
D. Circular model

Choose the correct answer from the options given below:

el e
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EE

[Fifded T & HicR=ul @l el 4aEdl s :
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Objective Question
20 2070
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Match List I with List IT

LISTI LISTII
(Communication context) (Characteristic)
A [Physical I. |Deals with status relationship
B. |Cultural II. Message's position within a sequence of events]
C. |Socio-Psychological | III. [Tangible environment
D. |Temporal IV. Involves values

Choose the correct answer from the options given below:

.A-L B-III. C-IV. D-IT
A-IL B-III. C-IV. D-I
. A-IIL B-IV. C-L. D-II
4. A-IV. B-1. C-II. D-II1

et 1 D1 gal 11 9 fire= Sifee

aﬁﬁlmﬁwmﬁlh Tt 11 (F=iTaT)

L [9iaB- 9 § oI9gR @xdl §
‘Gr'ﬁw‘ﬁ'ﬁﬁ 1. [ge13 @ Jaaraid G52 B U]
C. [arisid-Aa-e] 1L [Hd ardiarul

D. [dleidd IV, [0l ! G 3l ¢ |

frafafad o & 3 96l SR o1 T :

| S

S

.UU

. A-L B-III. C-IV. D-II
AL B-IIL. C-IV. D-I
A-IIL B-IV., C-I. D-II
. A-IV. B-1. C-IL. D-IIT
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Objective Question
21 2071 Consider following sums of fractions:

1
1
B. 1
1
19
R
21

o

1

|
Wl— W= ] —

Al

B|l= o

Choose the correct ascending order of above sums of fractions from the following options:

Jl'\'.

il
[ = v e =
J’“\ A J'“\ -'“\
PN vy
A AN

i
W oo
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Objective Question

22 2072 || Given below are two statements:
Statement I: The sum of integers from 110 to 630 is over 300.000.
Statement IT: The ratio of the circumference of a circle with its areas is inversely proportional to its diameter.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement I is incorrect

4, Statement I is incorrect but Statement II is correct

BRI IR AR I

BYA1: 110 § 630 TP & QUlfep] BT TATHBA 300,000 H P E |

@2 11 : Tl gt 1 aRIY &1 39 89 d U 3UTd SYb oY & SgehHdrdl sidl gl
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Objective Question

232073 Witch letter completes this sequence?

ABDOPQ?

| S

B
N

54 90l & BIE a0l W a1 8 2

ABDOPQ?

Fran e
N A
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Objective Question

24 2074 | A watch, which gaing 5 seconds every 3 minutes, is set right at 8 AM. In the afternoon the same day. when the faulty watch indicates 5:15

the actual time is.

.6 PM

5:30 PM

. 5:00 PM

. 5:05 PM

U T3], S vl 3 fie i s 9% o 81 91 3. 31 8 991 Yals § o1 foar ol ¢ | 34T fa Suex & oa ag 'vie ugt 5:15 g9k
TR RS ke

o =

e o

RMH P 6T
M 5.30 F9
RME P 5T
R 5.05 §9
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Objective Question

25 2075 | A bus takes two hours less for a journey of 300 km, if its speed is increased by 5 kan/hr from its normal speed. The normal speed is.

.20 kmv/hr
.25 km/hr
.35 km/hr
.50 km/hr

IR ol &9 31 WM I 3 5 5 H/der 31 gfs 1 Sl © o 98 300 [ 1. 1 amn & g 2 9 pH ST aug ol § | O 39!
YA ARG 2

B

.20 fos 1t der
.25 T ot et
.35 fae o et
.50 fos 1 der
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Objective Question

2612076 || Given below are two statements:

Statement I: According to Nyaya philosophy, the middle term (hetu or linga) must be found in the minor term (paksa) in a case of
inference.

Statement IT: According to Nyaya philosophy the middle term should not be found anywhere where Sadhya or major term is not found.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement II is correct
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Objective Question

2712077 | vy, Quintal has argued that logic is not the most important thing in life. Apparently Mr. Quintal advocates irrationality. It has taken two

million years for the human race to achieve the position that it has and Mz Quintal would throw the whole thing into garbage:"

Which fallacy is committed in this arguments?

1. Slippery slope
2. Strawman

3. Red herring

4. Hasty generalization

"fireR e 3 9 & & (& Sfiam & Hafite seayul agg dbme =81 § | 381 wdld 811 § & fireex fdhea sigfnm orand
%ﬂﬁ%‘ | HId Uil & U Sl o 41 & 9 - 1 S di 9 o ol § 3R MR faded 39 9ol Suciie &l R § B &d
III

Tl -1 Sy © 2

1. fraegead ea (el i)
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Objective Question
28 2078
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Given below are two statements:
Statement [: Formal fallacies are those that can be detected only through analysis of the content of the arguments.
Statement II: Formal fallacies pertain to deductive arguments that have identifiable forms.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement I is incorrect

4, Statement I is incorrect but Statement II is correct

TR ey g

BYUA 1 : BN dDha d 3. o] IR ad &1 favg.-axg & Gz gRI & &1 o 9l ¢ |
DY 11 : HIRP qAH Y TgdH Ay PR P FHATED do! O Faferd gl
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W
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Objective Question
292079 | The collection of all the objects to which a term may correctly be applied is called?
A. The intension of that term
B. Connotation of that term

C. The extension of that term
D. Denotation of that term

Choose the correct answer from the options given below:

1. A and B only
2. Aand D only
.B and C only
.Cand D only

o
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Objective Question

3012080 | A farmer sees the water level of river i sing rapidly from that he coneludes that it must have rained heavily upon the hills. Which of the

instruments of knowledge is used in this example?

. Perception (Pratyaksa)

. Inference (Anumana)

. Comparison (Upamana)

. Extra-ordinary perception (aulaukika Pratyaksa)

U HUS digdl 9 a4HH Tal & TR D1 adl g o759 96 5Py [Hladl ¢ [P ergl 1R UKl SRR g8 ehil | 59 Saexu d I
& g A ST g 2
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Objective Question
31 2081
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Which of the following are strengths of computer?

A. Speed

B. Accuracy

C. Reliability
D. Policy making

Choose the correct answer from the options given below:

1.B and D only
2.B. Conly

3.A.B. Conly
4.B. C.D only

FEAfGI I s s ST awd ¢ 2

i feu T fad el O U Tel 3wk &1 99 BIfor:

1. $adB IR D
2. PAAB AR C
3. PATA. B3R C
4. %adAB, C3RD

Al
A2
A3

Aty
4

Objective Question

32 2082 | MIDI stands for:

. Multimedia Interface Data Interchange
. Musical Instrument Digital Interface

. Multi Interface Data Input

. Media Interchange for Data Interface

U315 31,3175, PTHIAE § ?

R O

1. Aee IS 5% H Sl sexdal
2. Tfoien e SEche fsfored Sexwd
3. Heel S Y Sel §Ye

4. HIf&TT SexES ®R T §eHhd
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33 12083

34 2084

A2
A3

Ay

4

Objective Question

Given below are two statements:

Statement I: A hardware engineer is responsible for the planning, implementation. configuration and administration of database
management system.

Statement IT: A network administrator is responsible for managing and maintaining an organization's Local Area Network (LAN).

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true

RapEfRume:

FYT 1 : TF TIoauR T, Scrad HAuHe (HRed o1 IiorHT, fsharag, fa=m 3R TR & A SwRam 8T g |
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Objective Question
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Which of the following statements are true?

A. The CPU can store the data for a long time.

B. Increasing the amount of RAM will increase the performance of computer.
C. RAM is known as 'volatile' memory.

D. ROM is processing unit.

E. CPU is known as the brain of the computer.

Choose the correct answer from the options given below:

.and E only
.and D only
. and E only
. and D only

e d i PR I HUT a8 2

A Pt g, 78 Ty & oy Ser HeiRd R IFaTR |

B. M (3R.U.TH.) FT IR 9¢1H TR AL B BT 9371
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4

Objective Question

3512085 | Which of the following is a correct definition of volatile memory?

1. It does not lose its contents on failure of power supply.
2. The contents in the memory evaporate.

3. Due to heat the data is lost.

4. It loses its contents on failure of power supply.

i 5 4 P W diergd THRY B Hel TRHINI§ 2

1. 78 fagya omyfd & fawe 8 o R ot 39+ arad¥q (@e) I T8I @i 3 |
2. B B R e asiipd @ Il R |

3.9 4 ST MG I A § |
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Objective Question

362086 The total power output in a hydroelectric installation depends upon

. the total water flow

. the electrical conductivity of water

. atmospheric temperature

. aertical distance through which water falls

Onwe

Choose the correct answer from the options given below:

1. A. B and C only
2.B and C only
3. Aand D only
4. A, Band D only

U a-fagga Sifse § oo Ifad Sacal (HHR SRl o
A FA 9-HGR8 T
B. 9d &1 faggdig Iraedl IR

C. ATaTaRuig I 4R
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Objective Question
37 12087
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In the context of climate change which of the following observations are correct for 20th century with reference to 17507

A. The global average surface temperature has increased by 0.6°C.

B. Greater increase in daytime temperature than night time has been observed.

C. Global average sea level rose 0.1-0.2 m largely due to thermal expansion.

D. The atmosphere concentration of Carbon dioxide (CO,) has increased by 31%.

E. Precipitation in the northern hemisphere has decreased by 1% per decade.

Choose the correct answer from the options given below:

1.A.B.Dand E only
2. A. Cand D only
.B. C and D only
.A.B. Cand D only

SIqarg-aRad_ & G5 ¥ Fifed 8 3 &1 Uaor 1750 & Ha H 206 arsdl & U A § 2
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Objective Question

38 12088 || At pH values above 7.5, the disinfectant capability of chlorine is

. greatly reduced

. greatly enhanced
. slightly enhanced
. not changed

7.5 T ¥ pH TF TH IR, TARH &1 [GUHHS &Har il §

[

=

1. g & aTeT 9el g
2. 950 S I 9E1 %
3. UST A wd g%
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Objective Question

3912089 | \fatch List I with List IT

10_Live_Chine_B2_E_1-150.html

LEE 1 LISTII

L axardons (Specific effect)

substance) P
A_ [Neurotoxins I. [Substances that cause cancer.
B. Mutagens II. |Substances that attack nerve cells.
o | R m Substg.nces that c_iama ge or alter genetic

knaterial (DNA) 1n cells.

W . [Substance that cause abnormality during

D. [Carcinogens V.

lembryonic growth and development.

R

. A-L B-IV. C-II. D-III
. A-IV. B-1. C-III. D-IT
AL B-III. C-IV. D-I
. A-IIL B-II. C-L. D-IV

Choose the correct answer from the options given below:
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Objective Question
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Given below are two statements:

Statements I: Fuel oxides of nitrogen (NO,) is created when nitrogen and oxygen in the combustion chamber are heated to as high as

1000° C temperature.
Statement IT: Thermal NO, is often the dominant source in the total NO, emissions.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

3=

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
2 g Py few Mo B:
FYA 1 : 9 ATggior SR SIS B 1000° ¢ T I AT TR &5 AHIS J TH (301 ST § 76 597 AIge o JHauesd (NO,)
BB S |
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4

Objective Question

412091 ywhich among the following measures do not help students from disadvantaged communities to feel comfortable in the classrooms?

1. Encouraging them to participate in the cultural activities

2. Asking them to concentrate on study only

3. Inviting successful persons from disadvantaged communities
4. Trying to understand their struggles and difficulties genuinely

i & 9 o 9 sum dfad agemt & faenfial &1 giausme saya o S Tera Agi e ¢ 2

1. Fitpide Tafafeai § Y o S 3 Widlied S

2.3 $pad AT R UH Higd B & [o¢ Bl

3. dfed YHEMT ¥ b d aafdadl &l SHET B3]

4. 3% GuUST 3R Hfe12a] o Tel 7Y U ST YA H31
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1
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Objective Question
4212092 | 5 per the NEP 2020, curbing of commercialization of education will be effected by following measures
A. Making all transactions online
B. Ensuring that educational institutions will be held to similar standards of audit
C. Making disclosure as a 'not for profit’ entity
D. Enguring that private institutions should donate fund for charity
E. Asking institutions to reinvest their surpluses in educational sector

Choose the correct answer from the options given below:

. and C only
. and D only
: .and D only
.B. C. and E only

T3 FR1& =T (NEP) 2020 F AR Rig & FaudieHR0] IR ek STEl 3 FE=01 9] S 96l © -

A Y TG BT SfTAIRA HRAT .
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Objective Question
43 2093

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa35016.47612/10_Live_Chine_B2_E_1-150.html 29/109



6/21/23, 10:11 AM 10_Live_Chine_B2_E_1-150.html

Given below are two statements:
Statement I: Increasing level of environmental pollution can be handled by creating awareness among common people about its fallouts.
Statement IT: There should be research to identify those behaviors which are responsible for pollution.

Choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ 5]

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false

4. Statement [ 1s false but Statement II is true
EIERALAICACAUE] |8
BYA 1 : GIARUN UGYUT & 9 d §U &R B 31 Al H 3P gHUIE] & SR GFR=dl Ual B JUTET o Jhdl ¢ |
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Objective Question

441209 | Which of the following research areas is associated with Oriental Research Institute of Mysore?

1. Folk literature

2. Palm leaf manuscripts
3. Painting

4. Visual art

fFrferEd o 9 B 91 S &7 W= SHu SR, T 8 Uit g

1. Wi e

2. drgud uigfafoar
3. e
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Objective Question

4512095 | Which of the following types of Universities is the least in number in India?

1. State Universities

2. Private Universities

. Deemed Universities
. Central Universities

YRA H FERIREd UoR & foxafdaedl 49 o 9 JIaa 9@ 5 g 2
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4
Objective Question

46 1209 | Read the passage and answer the question given below:

To deal with issues of democracy and authoritarian rules we have to pay particular attention to both the context what can be called
development and to the interpretation of democracy. in particular to the respective roles of voting and public reasoning. The assessment o
development cannot be divorced from the lives that people can lead and the real freedom that they enjoy. Development can scarcely be
seen mere in terms of enhancement of inanimate objects of convenience, such as a rise in GNP or in personal incomes, or industrializatios
important as they may be as means to the real ends. Their value must depend upon what they do to the lives and freedom of the people
involved, which must be central to the idea of development. If development is understood in a broader way with a focus on human lives,
then it becomes immediately clear that the relation between development and democracy has to be seen partly in terms of their
constitutive connection, rather than only through their external links. Even though the question has often been asked whether political
freedom is 'conducive to development’, we must not miss the crucial recognition that political liberties and democratic rights are among
the constituent components of development. Their relevance for development does not have to be established indirectly through their
contribution to the growth of GNP. However. after acknowledging this central connection, we also have to subject democracy to
consequential analysis since there are other kinds of freedoms as well, other than political liberties and civil rights. to which attention mu:
be paid. We must be concerned, for example, with economic poverty.

The interpretation of democracy depends upon

. political convenience

. issues other than development

. the exercise of franchise as linked to public reasoning
. development as a sperate entity

[ S

o
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Objective Question

47 2097 | Read the passage and answer the question given below:

To deal with issues of democracy and authoritarian rules we have to pay particular attention to both the context what can be called
development and to the interpretation of democracy. in particular to the respective roles of voting and public reasoning. The assessment o
development cannot be divorced from the lives that people can lead and the real freedom that they enjoy. Development can scarcely be
seen mere in terms of enhancement of inanimate objects of convenience, such as a rise in GNP or in personal incomes, or industrializatios
important as they may be as means to the real ends. Their value must depend upon what they do to the lives and freedom of the people
involved. which must be central to the idea of development. If development is understood in a broader way with a focus on human lives,
then it becomes immediately clear that the relation between development and democracy has to be seen partly in terms of their
constitutive connection, rather than only through their external links. Even though the question has often been asked whether political
freedom is 'conducive to development’, we must not miss the crucial recognition that political liberties and democratic rights are among
the constituent components of development. Their relevance for development does not have to be established indirectly through their
contribution to the growth of GNP. However. after acknowledging this central connection, we also have to subject democracy to
consequential analysis since there are other kinds of freedoms as well, other than political liberties and civil rights, to which attention muw
be paid. We must be concerned. for example, with economic poverty.

Development should be comprehensively measured in terms of

. increase in inanimate objects

. rige in personal incomes

. industrialisation

. the freedom of the people involved
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Objective Question

48 2098 | pead the passage and answer the question given below:

To deal with issues of democracy and authoritarian rules we have to pay particular attention to both the context what can be called
development and to the interpretation of democracy. in particular to the respective roles of voting and public reasoning. The assessment o
development cannot be divorced from the lives that people can lead and the real freedom that they enjoy. Development can scarcely be
seen mere in terms of enhancement of inanimate objects of convenience, such as a rise in GNP or in personal incomes, or industrializatios
important as they may be as means to the real ends. Their value must depend upon what they do to the lives and freedom of the people
involved. which must be central to the idea of development. If development is understood in a broader way with a focus on human lives,
then it becomes immediately clear that the relation between development and democracy has to be seen partly in terms of their
constitutive connection, rather than only through their external links. Even though the question has often been asked whether political
freedom is 'conducive to development’. we must not miss the crucial recognition that political liberties and democratic rights are among
the constituent components of development. Their relevance for development does not have to be established indirectly through their
contribution to the growth of GNP. However, after acknowledging this central connection, we also have to subject democracy to
consequential analysis since there are other kinds of freedoms as well, other than political liberties and civil rights. to which attention mu:
be paid. We must be concerned. for example, with economic poverty.

The relation between democracy and development can be seen through their

. External links

. Constitutive connection
. Indirect relation

. Abstract assessment
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Read the passage and answer the question given below:

To deal with issues of democracy and authoritarian rules we have to pay particular attention to both the context what can be called
development and to the interpretation of democracy. in particular to the respective roles of voting and public reasoning. The assessment o
development cannot be divorced from the lives that people can lead and the real freedom that they enjoy. Development can scarcely be
seen mere in terms of enhancement of inanimate objects of convenience, such as a rise in GNP or in personal incomes, or industrializatios
important as they may be as means to the real ends. Their value must depend upon what they do to the lives and freedom of the people
involved. which must be central to the idea of development. If development is understood in a broader way with a focus on human lives,
then it becomes immediately clear that the relation between development and democracy has to be seen partly in terms of their
constitutive connection, rather than only through their external links. Even though the question has often been asked whether political
freedom is 'conducive to development’, we must not miss the crucial recognition that political liberties and democratic rights are among
the constituent components of development. Their relevance for development does not have to be established indirectly through their
contribution to the growth of GNP. However. after acknowledging this central connection, we also have to subject democracy to
consequential analysis since there are other kinds of freedoms as well, other than political liberties and civil rights. to which attention mu
be paid. We must be concerned. for example, with economic poverty.

The consequential analysis of democracy as related to development should take into account

. Political rights only

. Crvil rights

. Freedom from poverty
. Policy initiatives
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Objective Question

3012100 | pead the passage and answer the question given below:

To deal with issues of democracy and authoritarian rules we have to pay particular attention to both the context what can be called
development and to the interpretation of democracy. in particular to the respective roles of voting and public reasoning. The assessment o
development cannot be divoreed from the lives that people can lead and the real freedom that they enjoy. Development can scarcely be
seen mere in terms of enhancement of inanimate objects of convenience, such as a rise in GNP or in personal incomes, or industrializatios
important as they may be as means to the real ends. Their value must depend upon what they do to the lives and freedom of the people
mvolved. which must be central to the idea of development. If development is understood in a broader way with a focus on human lives,
then it becomes immediately clear that the relation between development and democracy has to be seen partly in terms of their
constitutive connection, rather than only through their external links. Even though the question has often been asked whether political
freedom is 'conducive to development'. we must not miss the crucial recognition that political liberties and democratic rights are among
the constituent components of development. Their relevance for development does not have to be established indirectly through their
contribution to the growth of GNP. However, after acknowledging this central connection, we also have to subject democracy to
consequential analysis since there are other kinds of freedoms as well, other than political liberties and civil rights, to which attention mu:
be paid. We must be concerned. for example. with economic poverty.

The central theme of the passage is:

. Development and freedoms are inter-related.
Industrialization is essential for political freedom.
Development and human lives are not linked.
Development is purely an economic proposition.
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